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Q1.(3 points) Given F(x,y,z)= [Xzy, xy’,nyz] and f(x,,2)= %
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Q2. (4 points) Evaluate §f‘" -d¥ ,where Cis the ellipse
=

y=2 and  F(x.y.2)=[nm3]
Z2¥ - L w35 ¢ Jeost 1 12<ostsy

C- vy | (¢ YC"S+1 2'f2+3$;"+j/
) -[?-‘15."%, o, 3cost Y @
erm ety A
[ X/fz 2+ 3t st +12eest ST, \'«‘lw'-‘\'s [‘15 it :ofgwﬂif
+ W

o
“ ‘*coslf\
ﬂi%'if\?_cos’( fs*%*g *b ]

: S[-ﬁs:xc £ O ?
x

& S. Sin2t

Scanned by CamScanner



BRI
iU L AR

Q3.(5 points) Show that F is conservative and evaluate I F-df,  where

¢
ﬁ(x,y,z)=[e’,xey +e’, ye’ +5]
C is the line segment from (0,2,0) to (4,0,3)
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Q4. 2) (3 pomts) Find the area of the region bounded by the hypocyclo:d
x=cos’ ¢t J
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b)(5 points) Evaluate I F-df ,where F(x, y)=]_sinzx—ily,4x+e’AJ-LJ
c
C is the upper half of the hypocycloid
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